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Mote :— (/) The maximum marks printed on the question paper are
applicable for the students of the regular colleges
Category ‘A°. These marks will. however, be scaled up
proportionately in respect of the students of NCWEB
at the time of posting of awards for compilation of

result.

(i) Answers may be written either in English or in Hindi,
but the same medium should be used throughout the
paper.
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Attempt any Five questions.

All questions carry equal marks.
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Explain the expenditure method of measuring GDP in detail. 15
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Distinguish between potential and actual GDF. 5
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Write a note on inflationary and deflationary gaps. 10
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Define marginal propensity to consume and marginal

propensily to spend. 5
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(h) Given:
C =40 + 0.6Y
1=80
G =40
T 40

find out the values of equilibrium level of income, con-

sumption and saving. 10
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What is aggregate supply curve ? What factors determine the
stope of short  run  aggregate  supply  curve
(SRAS) ? How do changes in the slopes of SRAS curve influ-

ence the level of price level and GDP ? 2-5+8
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What is net expurt function 7 What brings the shifts in net
export function ? Discuss the effects of shifis in net expont

funcuon on GDP. 251025
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Explain the derivation of IS-LM curves. Discuss the shifts in

IS and LM curves. 15
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What do you mean by credit creation ? Discuss the process

of credit creation using ratio approach. 15
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Write notes on any fwo of the following : 15%2=15
(@) Functions of money

(b)  Speculation demand for money and liquidity trap

(¢) Fixed and flexible exchange rate regime,
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